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QUESTION 1
Which keys are required to use the encryption classes in the Java APl in order to store encrypted
data on a BlackBerry device? (Choose one.)

Code development keys
Code signing keys
Code runtime keys
Code encryption keys
Code storage keys

moow»

Answer: B

QUESTION 2
Consider the code below:

int width = Math.abs({ ...);

Int mldeH]t = Wramn / Z,

What is a more efficient way of calculating the midpoint? (Choose one.)

A. int midpoint = (int) ((double) width) / 2.0;

B. int midpoint = Fixed32.div(width, 2);

C. int midpoint = (int) (width * 0.5f);

D. int midpoint = width >> 1,

E. int midpoint = width >> 2;

Answer: D

QUESTION 3

Which two of the following operations should be avoided on the main event thread? (Choose
two.)

A. Pushing a screen onto the display stack
B. Displaying a Dialog screen

C. Performing network communication

D. Calling the sleep method

E. Capturing of keyboard input

Answer: CD

QUESTION 4

A BlackBerry device application collects information about several hundred books. The
application needs to sort books by title. Which combination of data structures should be used to
manage the objects? (Choose one.)

A. net.rim.device.api.util. SimpleSortingVector and net.rim.device.api.util.StringComparator
B. java.util.Hashtable and net.rim.device.api.util. StringComparator
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C. net.rim.device.api.util.StringRepository and net.rim.device.api.util. StringPattern
D. java.util.TreeSet and net.rim.device.api.util. StringComparator
E. java.util.Stack and net.rim.device.api.util. StringComparator

Answer: A

QUESTION 5

An application receives notification that a new data object is being saved in the Runtime Store. It
may take up to 60 seconds to save this data. Which method should the application use to obtain
the object from the Runtime Store? (Choose one.)

get( long objectUID )

getinstance()

fetch( Class objectClass, long timeout )
waitFor( long objectUID )

put( long objectUID, Object anObject)

moow»

Answer: D

QUESTION 6
The following application is set to auto-run at startup:
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ublic final class Testh extends Uilpplication
© PP 154

{
public static void mein(String[] args)
{
Uikpplication theBpp = new Testlppl);
thelpp.enterEventDispatcher() ;
1
pablic Testipp()
{
MainScreen mainScreen — new MainScreen();
Menultem menu = new Menultem("Do Something",
1, 1)
{
public wvoid run()
{
MyThread myTh = new MyThread();
myIh.start();
}
e
mainScreen.addMenultem {menu) ;
pushScreen (mainScreen) ;
}
}

Which approach would most reliably solve the problem this application will encounter? (Choose
one.)

A. It should callThread.sleep() for ten seconds before pushing the screen to verify that the
BlackBerry device has completed its boot up process

B. Threads should be moved to their own standalone class so that they do not cause a security
exception

C. Theint values in the Menultem constructor should equal the y MenuString length to leave enough
room for the string

D. It should use theApplicationManager.inStartup() before pushing the screen to verify that the
BlackBerry device has completed its boot up process

E. It should use theApplicationManager.inStartup() before pushing the screen to verify that the
BlackBerry device has completed its boot up process

F. It should use theApplicationManager.inStartup() before pushing the screen to verify that the
BlackBerry device has completed its boot up process
G. ThemakeMenu method of MainScreen must be overridden to use a menu

Answer: DEF

QUESTION 7
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A developer is designing a BlackBerry device application that provides summaries of large
amounts of data. The summaries require extensive computations. Which design approach will
meet these requirements? (Choose one.)

A. Store the full set of data locally on removable media using a compressed format
B. Supplement memory available on the BlackBerry device and compute the results locally

C. Use URL encodings to expedite the transfer of data between a remote server and the BlackBerry

device

D. Compute the summary on a remote server and access the results through a BlackBerry
Enterprise Server connection

E. Use local storage and the floating point processor on the BlackBerry device to speed up
computations

Answer: B

QUESTION 8

A customer needs an application that will store temporary data and expose it to other BlackBerry
device applications. Which API will meet this requirement? (Choose one.)

Runtime Store
Persistent Store
Location Based Services
Global Events
Connector

moow»

Answer: A

QUESTION 9

An application requires the creation of a custom field that can display animation. Which class and
method combination should be used to accomplish this task? (Choose one.)

Field.paint(Graphics graphics)
MainScreen.paint(Graphics graphics)
Field.subpaint(Graphics graphics)
Screen.draw(Graphics graphics)
GameCanvas.paint(Graphics graphics)

moowp

Answer: A

QUESTION 10
Consider the Counter class whose code is below:
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1 public class Counter implements Runnable {

2 private static int _count;

3

< public void run() {

5 for (int i=0; i<1000e0; i++) {

6 _count++;

7 3}

s }

a

10 public static void go() throws InterrustedException {
11 _count = Integer.MAX VALUE - 102020820,

12 Thrzad t1 = new Thread(new Counter());

13 Thrzad t2 = new Thread(new Counter());

14 tl.start(); t2.start();

15 t1l.join(); t2.join{);

16 System.out.printin{“FINAL COUNT: " + _count);
17 }

18 }

Assuming that the go() method is always invoked serially, why is a different count printed at the
end almost every time that it is invoked? (Choose one.)

Therun() method is not declared "synchronized"
The _count variable is not declared "synchronized"
The ++ operator is not atomic

The _count variable overflows

The Counter class is not declared "synchronized"

moow»

Answer: C

QUESTION 11

A developer is writing a game with custom graphics and animations that will need to fit on multiple
screen sizes for various BlackBerry devices. The developer needs to minimize the number of
images created for the game. Which API will support these requirements? (Choose one.)

SVG
Display
Transition
Multimedia
Game

moowp

Answer: A

QUESTION 12
Which three of the following options are contained in a component pack? (Choose three.)

BlackBerry Device Simulator
JavaDocs

API Library

Code signing keys

Cow»
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E. Unit Tests Framework

Answer: ABC

QUESTION 13

Which push header should be used to verify that push requests are received by a BlackBerry
device application? (Choose one.)

X-Rim-Push-Reliability: Transport
X-RIM-Push-Deliver-Before Mon, 03 Aug 2009 15:52:00 GMT
X-RIM-Push-Deliver-After: Mon, 03 Aug 2009 15:52:00 GMT
X-Rim-Push-Priority: High

X-Rim-Push-Reliability: Application

moow»

Answer: E

QUESTION 14
An application is needed that can store a list of sales data and customer information. The
application will also need the ability to search through this data and summarize it in an efficient

manner. Which data storage mechanism will assist in meeting all of these requirements? (Choose
one.)

A. SOQLite

B. Persistent Store
C. Record Store

D. Runtime Store
E. File Connection

Answer: D

QUESTION 15
Which two of the following classes could be used to check the coverage status? (Choose two.)

Radio

Connection Factory
Transport Info
Coverage Sate
Coverage Info

moowp

Answer: CE

Get Latest & Actual BCP-811 Exam's Question and Answers from Passleader.
http://www.passleader.com



http://www.passleader.com/BCP-811.html
http://www.passleader.com/

» Instant Download * PDF And VCE * 100% Passing Guarantee * 100% Money Back Guarantee

Thank You for Trying Our Product

PassLeader Certification Exam Features:

* More than 99,900 Satisfied Customers Worldwide.

% Average 99.9% Success Rate.

* Free Update to match latest and real exam scenarios.
* Instant Download Access! No Setup required.

* Questions & Answers are downloadable in PDF format and
VCE test engine format.

* Multi-Platform capabilities - Windows, Laptop, Mac, Android, iPhone, iPod, iPad.
* 100% Guaranteed Success or 100% Money Back Guarantee.
* Fast, helpful support 24x7.

View list of all certification exams: http://www.passleader.com/all-products.html

1 [EY1 [T — @ SRACLE

CISCO CompTlA.

(ISO)" ciTrRIX (ﬁ,n] Juniper

CIEH

Cortified | Ethical Hacker

." =N EMC

where information lives®

10% Discount Coupon Code: STNAR2014

Get Latest & Actual BCP-811 Exam's Question and Answers from Passleader.
http://www.passleader.com



http://www.passleader.com/BCP-811.html
http://www.passleader.com/
http://www.passleader.com/all-products.html
http://www.passleader.com/cisco.html
http://www.passleader.com/microsoft.html
http://www.passleader.com/comptia.html
http://www.passleader.com/oracle.html
http://www.passleader.com/isc-2.html
http://www.passleader.com/citrix.html
http://www.passleader.com/hp.html
http://www.passleader.com/juniper.html
http://www.passleader.com/ec-council.html
http://www.passleader.com/apple.html
http://www.passleader.com/exin.html
http://www.passleader.com/emc.html

